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Answers to Worksheet for Section 3.1

a) V(0,~1)

b) opens up 9) f(x)=(x+2)"+1
¢) x=0 100 f(0)=—(x-3)"+1
d) -1 1) f(x)=—4(x-2)"+6
e) 1, 1 12) f(x)=2(x-1)*=5
f) minimum value is —1 when x =0 13) f(x)z%(x+1)2—%
) V(=3.-12) 14) (7,10)

b) ope nSBUP 15 (3,10)

;)) :_ 16) (~7,-36)

e)————

f) minimumis —12 when x =-3
a) V(-1.5,24.5)

b) opens down

c) x=-1.5

d) 20

e) -5 2

f) maximum is 24.5 when x =-1.5
a) V(2-))

b) opens up

c) x=2

d -3

e) —1,5

f) minimum of —4% when x =2
FO)==5(x=2)"+2

1 2
F)=—1 (x=3)+3
Fx)=—3(x+2)+3

F) = (x=4)+7



